
Assignment 

CLASS 3 

SST 

CHAPTER 1 – CHANGES IN A FAMILY 

THINK AND ANSWER 

Do exercise A, B, C and D in your S.St Book itself  

(Page no. 6&7) 

(After completing your work check the answers given below) 

A. Tick (✓) the right answer 

1. Society 

2. Games 

3. Breaking up 

4. Relatives 

5. Raju 

 

B. Match the following 

1. Grandfather- eldest member in the joint family 

2. Gopalan- harmonium 

3. Marriages- special dishes 

4. Joint family- large in size 

5. Job transfer- Rajat's father 

 

C. Fill in the blanks 

1. economic 

2. Parents 

3. society 



4. Diwali, Pongal 

5. baby 

 

D. True or False 

1. True 

2. False 

3. False 

4. True 

5. False 

______________________________________________ 

   E. Answer the following questions  

  (Write these question answers in your S.St practical notebook) 

1. What are nuclear families? 

Ans- Nuclear families are those families in which father, mother 

and their children live together under one roof. 

 

2. What are the things which you have learnt from your 

family members? 

Ans- The things which we have learnt from our family members 

are as following: - 

• Taking care of each other. 

• Cooperate with everyone. 

• Spending time together. 

• Sharing our things with everyone. 

• Loving everyone in the family. 

 

 



3.  What type of life did Rohan’s mother lead in her 

childhood? 

Ans- Rohan's mother led a very simple life in her childhood. 

She used to play a lot of outdoor games. She used to spend a 

lot of time with her grandfather learning many things from him. 

 

4. Name some family values on which the foundation of a 

society is based. 

Ans- Some family values on which the foundation of a society 

is based are- 

• Love  

• Cooperation 

• Discipline 

• Commitment 

• Unselfishness  

 

5. What are the reasons for change in Rubin’s, Rajat’s and 

Mohit’s family? 

Ans- Rubin's family had an addition of new baby girl.  

Rajat’s family was transferred to a new place, so they had new 

friends, new neighborhood and new school. 

Mohit’s family had a new family member because his sister got 

married. 

____________________________________________ 

 


